H & 0l & AHS B Ml A
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Olat LB SHHCIZ5 )

S oRIE
B =ois A} {1
Cel: ZoZE % (ol ® )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
eieiE=E 33,681,390 17,146,104 16,535,286
= 2,082,618
s 10,753,000
| 521,472
= 3,981,371
Al 11,642,929
CH 4,700,000
sdRe J¥A M 18,562,590 9,822,304 8,740,286
= 2,082,618
= 210,000
| 521,472
= 2,627,471
Al 8,421,029
CH 4,700,000
ZEEAH 2= 6,128,545 669,590 5,458,955
= 15,000
& 100,000
Al 1,513,545
CH 4,500,000
FCEH = A 36,180 63,320 A27,140
201 LBt23| 21,800 52,940 A31,140
01 ArR22elt| 21,800 20,940 860
OLe=2| 16,000
OFC = J2FA 7,000,000& 7,000
OZMAl ZEZSH Nz HME
8,000,000& 8,000
oxsgel d83)0| HIE
1,000,000& 1,000
O=t| 3,000
OFCEAH H2FA 3,000,000& 3,000
| DR =y 2,800
ogNHelRdE = 2,800,000& 2,800
202 Ot 8,380 7,380 1,000
01 =WHOdbI 8,380 7,380 1,000
O=LH0{bI 8,380
OFCEAH J2FA 5,880,000& 5,880
OFEZE X AS 2,500,000& 2,500
301 LB NZ 6,000 3,000 3,000
11 HAAHIXIE S 3,000 3,000 0
OFECEH JdAX| As 3,000,000& 3,000
14 JIEt2 43 3,000 0 3,000
OFECEd 2= 2238 i
3,000,000& 3,000
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2A:

B =ois A} {1
el RS 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHXEHHHC|ISE 2 XNALE HE 5,400,000 0 5,400,000
Al 900,000
CH 4,500,000
401 AlZHIZ S 0HbI 5,400,000 0 5,400,000
Al 900,000
CH 4,500,000
01 A28l 5,400,000 0 5,400,000
OZHXEHH eI SEANAHE (ES =
B) A8 5,400,000,000& 5,400,000
Al 900,000
CH 4,500,000
Al AldENS XIAY 18,000 18,000
206 M=l 6,000 6,000
01 MHZH| 6,000 6,000
AdE NS N4l 6,000,000& 6,000
301 EtE N = 12,000 12,000
14 DBt 2 a3 12,000 12,000
OAME NS ZAH] 12,000,000 12,000
Hclseia &4 5,485 5,350 135
201 et 3| 4,000 4,000
01 At2t2l] 4,000 4,000
OEIEIER= 1 2,500
OSZSENAY A2EX
2,500,000& 2,500
o=z 1,500
OSIHRISENAY Y2EX
1,500,000 1,500
202 04| 1,485 1,350 135
01 SLHoIH 1,485 1,350 135
OB S EERSEES
1,485,000 1,485
Al Hoiel & 2Uole 25 134,420 118,000 16,420
101 @12A4H| 107,120 94,000 13,120
04 JIZtN2 2N S+ 107,120 94,000 13,120
OS2I IM =LA Q12H|
107,120,000& 107,120
201 2= 7,300 4,000 3,300
01 At22t2lH] 7,300 4,000 3,300
Ot~ 4,000
OsgdgH d=XA =4 =257
4,000,000& 4,000
OZMAl Bl & 2UI0Ie AIAY KX
2l 3,300,000 3,300
207 AR 20,000 20,000 0




SA: el
B =ois A} {1
el RS 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 H1ESHI 20,000 20,000 0
OZHAl HHel & YU0le 15 S48
= 20,000,000& 20,000
SSS4 JIEYMHA 7= XA (EX) 30,000 30,000 0
= 15,000
Al 15,000
307 21201 & 30,000 30,000 0
= 15,000
Al 15,000
05 2ItRIE = 30,000 30,000 0
OZZ2A JIHMATIH 22 U ALY
30,000,000& 30,000
= 15,000
Al 15,000
sS4E EEEHME(Z20E) 29 239,460 182,920 56,540
101 @1A4H| 101,580 96,600 4,980
04 JIZtN22 XS 2+ 101,580 96,600 4,980
OsSits S28HE(20E) 29 o2At]
101,580,000 101,580
201 2= 137,880 86,320 51,560
01 At2t2lt] 76,000 76,000 0
O =ZH| 52,000
OsStis EEHIE(20HE) 2
17,000,000& 17,000
O=cto! EHHHEl X 10,000,000 10,000
O=ctel gfAd| XI& 5,000,000& 5,000
O2ctel HIHHE eldiAl & T224& H]
= 20,000,000 20,000
Ogx= 24,000
OsSt2 EEBIE(Z20HE) Xt
24,000,000& 24,000
2 S524g4l 11,880 10,320 1,560
O=E=23H| 11,880,000 11,880
03 Ar=EHI 50,000 0 50,000
OXNS =N HAHEH A X
50,000,000 50,000
Neigke] FEZ 29 TJA(2¢A - SE 22l (HEA 200,000 200,000 0
) (Ex)
== 100,000
Al 100,000
301 2= 35,000 17,000 18,000
== 17,500
Al 17,500
11 dALEEIXIZE S 35,000 15,000 20,000




A gz
2

B =ois A} {1
ol ZEEd™ A= EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OZMAl 2t&HIe| AHIAF 2UIEHEE 2
& 20,000,000& 20,000
= 10,000
Al 10,000
OHisitEs dits et o d 248 HE
- GIEl K AHY 5,000,000& 5,000
< 2,500
Al 2,500
OX0Ple s4tE M2 HEE &85
A& 10,000,000 10,000
= 5,000
Al 5,000
307 @I2t0| & 165,000 110,000 55,000
== 82,500
Al 82,500
05 2IR”tRIE = 165,000 90,000 75,000
OZH SZFC ASHT oA - A% 1
= 20,000,000 20,000
S 10,000
Al 10,000
OZ XN 2ZFC ST 2242 S2EE
= MH 10,000,000 10,000
=S 5,000
Al 5,000
OZHAl dEHH| HAT} - 2K DS
Dk 40,000,000 40,000
= 20,000
Al 20,000
OLEsiE dats et &8 248 XA
At 20,000,000 20,000
=S 10,000
Al 10,000
03589 Eolsits tEd HAHHIS
65,000,000 65,000
= 32,500
Al 32,500
OX 0Pl sttt td2e|At 54 & 218
mEs, 10,000,000 10,000
=S 5,000
Al 5,000
324 & SR AUASS MO X 50,000 50,000 0
402 SI2ERH=201 S 50,000 50,000
01 QI X2 AL E A (KHHITHE) 50,000 50,000
02234 L LTS B20 WA
50,000,000 50,000
sSE42 AHAHEH X (2HAFXH) 15,000 15,000 0




S ojelE

B =ois A} {1
&°Hel: RFEEd IF (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 15,000 15,000
02 QIZHAAAIEER 15,000 15,000
OsS4=2 HHAEH X3
15,000,000 15,000
SEE84H3 6,863,977 3,168,149 3,695,828
= 2,067,618
= 210,000
T 929,712
Al 3,656,647
SEEE2Y 13,520 13,640 2120
201 Ler23| 10,440 10,440 0
01 AtR2elt] 5,820 5,820 0
OLe=2| 4,320
O=ZEEY PR=& 4,320,000& 4,320
o=l 1,500
O=&8y gRFd 1,500,000& 1,500
02 2324l 4,620 4,620 0
OAEEHIR XU 4,620
OFLUASKEANALY KX E4
4,620,000 4,620
202 O4dl 3,080 3,200 A120
01 =ZLHOdHI 3,080 3,200 A 120
O=E29 gRFA 3,080,000& 3,080
ANZHHL}(EX) 300,000 300,000 0
ax 210,000
Al 90,000
307 212+01 A 300,000 300,000 0
iy 210,000
Al 90,000
02 QIZtBAAIEER 300,000 300,000 0
OANZS 2435} 300,000,000& 300,000
= 210,000
Al 90,000
SE NEFEHA ALY 81,530 79,100 2,430
201 B2 AY| 7,000 7,000 0
01 A=R2teld| 7,000 7,000 0
O et==2H| 5,000
OblesEZHAANY HRFX
5,000,000& 5,000
o=l 2,000
OXEHEHAANY HRFEX
2,000,000& 2,000
202 0441 800 1,000 2200
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=M sDfel e
XZIH: =HOE 2

(=T I oO-gHTTOoO

o9l sEHSE (c+

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 14,476
Al 33,781
;;—&%%’* ZHSS NA(HWEOIS 28It N (2 7,213 0 7,213
= 4,508
T 812
Al 1,893
307 212+01 A 7,213 0 7,213
= 4,508
= 812
Al 1,893
02 QIZHBAAIEER 7,213 0 7,213
O=ENES20IE &Y U Al
7,213,000& 7,213
= 4,508
= 812
Al 1,893
SESSENMY SHSXR(0ISESM 2 23HA 40,000 40,000 0
o)(=%)
& 25,000
Al 15,000
307 212+01™ 40,000 40,000 0
T 25,000
Al 15,000
02 QIZHAAAIHE X 40,000 40,000 0
OIS TSR BB 25 At (5H2)
40,000,000& 40,000
= 25,000
Al 15,000
sEFH XA (BX) 20,000 20,000 0
= 10,000
Al 10,000
307 212+01™ 20,000 20,000 0
= 10,000
Al 10,000
02 QIZHAAAIHE X 20,000 20,000 0
O=Z=H K& 20,000,000 20,000
= 10,000
Al 10,000
SERZ OIS 2% HE5 N (HEA)(2 100,000 100,000 0
%)
& 50,000
Al 50,000
307 212+01™ 100,000 100,000 0




FA "HAelggy
B =oies AW {1
tel: sEgds (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
Al 50,000
02 2IZHB A E £ 100,000 100,000 0
OSE22 HENIS 22845 A
100,000,000& 100,000
= 50,000
Al 50,000
A2 DI22S)| SUXAZE XA (HEA)(EX) 190,000 170,000 20,000
== 95,000
Al 95,000
307 212+01& 190,000 170,000 20,000
< 95,000
Al 95,000
02 LB HAHE L 190,000 170,000 20,000
ONZ 012D BANVEE X
190,000,000 190,000
= 95,000
Al 95,000
MAMOIS ST (MEAIY) (BX) 30,000 44,000 14,000
== 12,000
Al 18,000
402 2I2E X201 & 30,000 44,000 14,000
[ 12,000
Al 18,000
02 QI T2 AL EE (01X THE) 30,000 44,000 14,000
OIS HEI1(O1=EA)
30,000,000& 30,000
= 12,000
Al 18,000
OIEESSHAIE HEXJ(E2X)(HEAY) 30,000 30,000 0
s 15,000
Al 15,000
402 2I2FX=201H 30,000 0 30,000
[ 15,000
Al 15,000
02 QI TH2AILEE (01X THE) 30,000 0 30,000
Ol SSSHAIE HE=XZ
30,000,000& 30,000
= 15,000
Al 15,000
YOS SHAAML(EX)(HEAY) 39,000 26,000 13,000
=S 23,400
Al 15,600
307 21201 & 39,000 26,000 13,000




2A:
X XH -
o e

=aak

Hele

HJTE
é\:J

3
0
0
J
=
kJ

O 0
Mo
o

0% 0im
tol

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 23,400
Al 15,600
02 2IZHB A E £ 39,000 26,000 13,000
OIS 2L A 39,000,000& 39,000
= 23,400
Al 15,600
))Hlﬁlx\:,”ljialmil SEME2Y ZHAL(EX)(HEA 100,000 50,000 50,000
== 50,000
Al 50,000
307 212+01& 100,000 0 100,000
< 50,000
Al 50,000
02 LB HAHE L 100,000 0 100,000
OMAEHC SEME2E &4 Al
100,000,000 100,000
= 50,000
Al 50,000
SEES 2,900 3,100 A200
201 fer= 3| 2,100 2,100 0
01 At 2t 2,100 2,100 0
O ==H] 2,100
OsZEef UM g2
2,100,000& 2,100
202 04l 800 1,000 A200
01 =LHA LI 800 1,000 A200
O=ZE8 2x7 800, 0002 800
sSEAZSENA(S0ELE dPAHADNSF)(EX) 102 102 0
= 51
Al 51
307 212+01™ 102 102 0
= 51
Al 51
02 2B A HE L 102 102 0
OSHEULASE R MEIA - HEWF
102,000 102
= 51
Al 51
OIS Z2SHOICIH 243 XA (MEAIY)(EX) 20,000 0 20,000
=S 10,000
Al 10,000
307 21201 & 20,000 0 20,000
S 10,000
Al 10,000




2A:

B =oies AW {1
e sEgdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 20,000 20,000
O0S3SH 0100 2dst N
20,000,000& 20,000
= 10,000
Al 10,000
MBI HsHetds X3 (2X) 80,000 80,000
= 56,000
Al 24,000
307 212+01& 80,000 80,000
= 56,000
Al 24,000
02 LB HAHE L 80,000 80,000
OMBEsHEds X 80,000,000 80,000
= 56,000
Al 24,000
sE MIIFZM MHIA 32018 ZEAI(EX) 90,000 90,000
= 72,000
Al 18,000
307 21201 & 90,000 90,000
= 72,000
Al 18,000
02 QIIHAANSEE R 90,000 90,000
OsZE MFHBTAMEIA 35 Jlgt &4
90,000,000 90,000
= 72,000
Al 18,000
SEZM ARIABIA 243 NJdE ZEAIE 1,725,000 1,725,000
308 AXIHSOIA 1,725,000 1,725,000
07 HXHH2LRES 1,725,000 1,725,000
OsEZH MalAdIA Edet XNME X
A K& 1,725,000,0002 1,725,000
SESUEHIASE (EX) 3,750,000 3,750,000
= 1,875,000
=S 562,500
Al 1,312,500
403 AXIEHMSAH=201H 3,750,000 3,750,000
= 1,875,000
= 562,500
Al 1,312,500
02 SII2ASOITH St =2 A P E A I 3,750,000 3,750,000
OsES2EHl ML 3,750,000,000& 3,750,000
= 1,875,000
= 562,500

S
[




2A:

SpEEEh!
=

M SQIRE AW HD
tel: sEgds EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,312,500
SE HOM= ABIAHIA 243 NRAR(A2II13)( 100,000 100,000
Bx)
= 60,000
Al 40,000
307 2I2H0I A 100,000 100,000
=3 60,000
Al 40,000
02 QIAIBAAARE 100,000 100,000
O RO ABINHIA 283 X A
E 100,000, 0002 100,000
3 60,000
Al 40,000
SEUZY 2PYS MF NBAL(2Z) 20,000 20,000
=S 10,000
Al 10,000
307 BI2H0I A 20,000 20,000
=S 10,000
Al 10,000
02 QIABAAARE 20,000 20,000
OsERZ S2%s MM A
20,000,000 20,000
3 10,000
Al 10,000
NS HRUEINYH 2% 21,316 21,316
201 Yptedy| 19,316 19,316
01 Al 22| 9,216 9,216
g2 9,216
OXBE HFUEIME FI|HER2| 2
1,920,00024 1,920
OXEBH AHFUEIME S2I| 2208 8
St 2,664,008 2,664
OXIBE HFUIEIME AZAIL 2H2IHH
2| 4,632,0002 4,632
° I22gy| 10,100 10,100
OXIZH HRLIEIHE HIIR3
800,000 +62 4,800
OXZH HRUEIME +223
50,0008 +62 300
OAEZEIR X 5,000
OXEH HRUEIHE HA8F S
5,000,0002 5,000
206 THEH| 2,000 2,000
RETT 2,000 2,000
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2A:

M SHeS AW M2
tel: sEgds (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02EPae L HARE S
2,000,000 2,000
SENY 2,026,214 2,171,849 145,635
pJ 521,472
== 238,223
Al 1,266,519
SENY F2EX 6,666 6,060 606
201 LBt y| 2,970 2,700 270
01 Al 2H2IH 2,970 2,700 270
OLeH42Y| 770
OsENY P25 S 770,000 770
0=t 2,200
OSENY g2zn 2,200,000 2,200
202 01t 3,6% 3,360 3%
01 ZLHOIH] 3,6% 3,360 336
OsENY YRFZ 3,696,000 3,6%
HPBRAZ(EX) 1,042,945 979,792 63, 153
BJ 521,472
== 156,442
Al 365,031
301 YBEAZ 1,042,945 979,79 63,153
pJ 521,472
[ 156,442
Al 365,031
14 JIEF2 43 1,042,945 979,79 63,153
OZA2XEER At 1,042,945,0002 1,042,945
BJ 521,472
< 156,442
Al 365,031
ZHEHAEMAMLE (ZHI L2 ) (BX) 272,603 276,997 N4,39%4
== 81,781
Al 190,822
301 YBEAZ 272,603 276,997 4,39
= 81,781
Al 190,822
14 JIEt2 A3 272,603 276,997 4,39
OZ2EXXER At 272,603,000 272,603
[ 81,781
Al 190,822
SSHELS DISRSI(HEAIY) 500,000 500,000 0
403 REXISHHI S RH 01X 500,000 500,000
2 I HSOICHEHRHEEPIE ALY 500,000 500,000
OOISESD| R 500,000,000 500,000




2A:

HoAcIE=E

B soies M §

ool &N (Er9l: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A0S gAY 100,000 200,000 100,000

401 AIZHIZ SO 100,000 200,000 100,000
01 Al&HI 100,000 200,000 100,000
OARZ0ISEED| JIEAIE XI&
100,000,000 100,000
PESH HOIEBE =A2c 54,000 159,000 105,000
101 21AH| 4,500 4,500 0
04 JIZtN2Z2 XS 2+ 4,500 4,500 0
OLASH HOISE =t&d S 35| ¢
£ 4,500,000 4,500
201 er23 | 4,500 124,500 A120,000
2 352484l 4,500 4,500 0
03322 £ NA 4,500
O&J| & o=k 23 4,500,000& 4,500
401 Al HIZ S OHbI 45,000 30,000 15,000
01 A28l 45,000 30,000 15,000
OUISH HOISE AlE= =Xl22
30,000,000 30,000
022 S HOtSE M==AY
15,000,000 15,000
AR SEHE A 2c 50,000 50,000
401 AIEHIX SO 50,000 50,000
01 Al&H| 50,000 50,000
OBAS SN SN2
50,000,000& 50,000
SHERC Zd3t 2,711,797 2,485,536 226,261
[ 1,202,636
Al 1,509, 161
2ZEE 54 E N 38,070 39,634 A1,564
201 el 16,400 17,964 A1,564
01 At22t2lt] 6,400 7,964 1,564
O =ZH| 2,000
ORZEEL YRFA 2,000,000& 2,000
O=3=+4 1,400
OZHAl 2 EE S3sAKE 223
3 HA=¢ 70,0002 10 =23 1,400
O=g| 3,000
ORZEEL YRFA 3,000,000& 3,000
03 A= 10,000 10,000 0
OZZ T MY A Sttt Ws
5,000,000& 22 10,000
202 04| 1,670 1,670
01 =LHO LI 1,670 1,670
O2ZEE g2F 1,670,000& 1,670
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2A:

HoAcIE=E

B =oi9s A} {1
el 2ZZE 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 164,891
Al 185,512
08 w=J|20Het 2 360,403 266,255 84,148
ozl satE stuss N
350,403,000 350,403
= 164,891
Al 185,512
&t aZA XZAE(EX) 2,116,6%4 1,919,691 196,963
== 1,008,771
Al 1,112,883
308 AHXIHMSO0IA 2,116,6%4 1,919,691 196,963
< 1,003,771
Al 1,112,883
08 w=J| 202X 2,116,654 1,919,691 196,963
031D 2434 N A
2,116,654,000& 2,116,6%4
= 1,003,771
Al 1,112,883
ool 28X 81,000 65,025 15,975
307 @120l & 81,000 65,025 15,975
11 AMISXAIEEX 81,000 65,025 16,975
OG0l zatd & 4 X3 Atg
81,000,000 81,000
Oelold 2H(SBUSAXF)(EX) 13,317 13,834 AB17
= 3,995
Al 9,322
307 elztol & 13,317 13,834 AB17
= 3,995
Al 9,322
1 AMEISXAIEEXS 13,317 13,834 ABI7
oojelold zletd & X3
13,317,000 13,317
== 3,995
Al 9,322
OlS=TAIE 2SR 17,000 15,000 2,000
307 elztol & 17,000 15,000 2,000
11 AMEISXAEEES 17,000 15,000 2,000
OOS=AAE 2ad & 54 X3
17,000,000 17,000
2ZEE A2 HILoIRA XZAS (HEAIE)(BX) 13,200 12,857 343
=S 11,000
Al 2,200
402 2I2F X201 & 13,200 12,857 343
== 11,000




od
i’
oF
uJ

& = & RN < < S
A0 8 & & &
Ko 3 < < <
El
B
5 81818 3 @ alg o 38 S S 8188 8
@ s|s|s = SIRAN: == S S S s|s|e S
ol ks
uiled
KIS
S8 S 8 88188 SIESE S|Id|cla oo 38388 IR S KBRS KBS RS RNS|8|8 88 8
Jd|ld d s dls|gls SIS e =2 SINIFIT R KRR KO o|lo S 6|6 S ol « S alss|s Sls S
Sle e =el3|ss slgegg|c|oo " " ||V Ygeg|gasgls seglglgs glsc
ol
<
S
= H =< W= 3 W=l W= W = W
of of of OF of of oF
8 S 8 8 S 8 ISP
S S s 8 S S =i
— [ep)
o 8 8 g £ & 8 gln
ol @ =S — — al o) sS|=
i oua @ 81 =
o < a1 — o
3l = = = <] Rl
< — e - = -
T = < 0 o] o ol al
= | 2% 08 < 2l R E
. R 5 0 ) < e | g
= s 2 Ly Ik Rl R _|® I &
= _ﬂ H Ky OH K K KK K4 O no o i
=i o 4 - o o K | = il I NI IC N
H R0 o < = iy R |00 X0
F 3l mm L ) _ o  al mﬂ Uk o Sl ® |
& = HINEE Rilsls o a3l o = o Migo |z v |
. W Ul | =2 Km0 2 3| |5 @ | 7l w0 Nzlr ¥ |D
= = b ml|a |m & Ol |f & 0 o o] & 2| > M0 Rl m < |®
B 2w ~|A|a W | x Slizlof o T A0 | |F M| ) R ol 2|l @ (O
RO 3 M MNlz s & |or silol|= ol O M Ofs|Ar < |z 5 3 < =R 0 |
’ N - %W@O 31 Jlsls @ - N ®|0 B N - Flagls @ (=
B3 ERk) % o | Q¢ T ® a0 | & o
I+ or Ho <« Ed Ho pd
T

_16_



od
i’
oF
uJ

< e & & & el 8188 8188 8 S S
! ! ! Sl|2|S S22 S |S |S
i < < < oo O
3 °le|e sigls |8 |8 |8
E
]
8 S 5 5 5 288 8188 elefe e e e
S S © S © Sl2|S Sl2|2
o S 3 ] © @ 8|88 glele
ol
)
RIS
2818 8 818 S 3838|188 8|88 8|8 S 8 8|818(8 8181818 8 818818 818 8|8 88 8 8
Sl e 35leg S8 35|89 F|lg3 =g S 9 =995 98|9|8 5 S(55g SIS 915 95 S S
S8 888 8388dcg|dcdd g9 8|88 S|K|R|8 & &|S|S|¢ <€|gglgglg g 8
ar
<
=3
= H =< H =< H =< H =< H =< = & &
oF oF oF oFJ [ OF
g g g g g g
0 =8 g g g g g
w0 o g % = 2 = we
B 5 & i
o = = =
el I h ] R =
< = o < s —
I <z Uy 30 Y
= ur —~ 3l 4] H = = L=y
=z o KA = 30 = 100 = 3 .....AI._
. RT X i o = =) - ® | QI
= 20 W R o p o 1 R S
= i 3 o L F o |2 H = ol
ol "0 @ = Ki = Ki 5 = %0 < Ki =0 = Ki o
- Rl ol = or o oyr - il Ry = [ H =z | o oqg
= [ - RJ il K < & -
F o S 5 R q 5 Wl 12w |[Bl=l= 52 (K| (24 |5 (B |2y
3 S _ < = < Hu DD < T o <
o = o i z) 2 ZlrlaE |w@Edn (T 9 [ DD
= i Ao ul =) Ro ol R LU IV 1N T = I KR i K |R R
=0 R N W~ b R Al B0 TR U v b1 S ot V= I O o A o =
K =4 Mo R 3D Bl ) O =|ol|a W ﬂ ol|< ol © |™Mgi|a) ™ |m al o) o0
< 2 = al 5 N Pisley ® |“lsls = sy @ B |y |y @
I+ ok Ell A0 i) Al

_17_



A gz

B =&)Y o A
thel: s&:Mg 2 & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sEHY &2 X& 15,087,000 7,292,000 7,795,000
[ 10,543,000
= 1,353,900
Al 3,190,100
sENE & XA 15,087,000 7,292,000 7,795,000
= 10,543,000
< 1,353,900
Al 3,190,100
I ZHENFH(HFH) (IS)N(EXR) 266,000 811,000 545,000
= 186,000
== 24,000
Al 56,000
403 AXIEHHSAH=201H 266,000 811,000 A\545,000
= 186,000
S 24,000
Al 56,000
02 S7I2S0 e H=E 2 E AL 266,000 811,000 545,000
OHIH J|ZHEHNEERY A
266,000,000 266,000
[ 186,000
= 24,000
Al 56,000
I=MHENF(EXNY)(IS)N(EX) 653,000 1,347,000 694,000
[ 457,000
= 59,000
Al 137,000
403 AXIEHMSA=Z0l1d 653,000 1,347,000 694,000
[ 457,000
= 59,000
Al 137,000
02 SIS0t =2 2 P E A I 653,000 1,347,000 694,000
OSXE JIZdEaHNExd A
653,000,000 653,000
[ 457,000
= 59,000
Al 137,000
I EZMENF(SEY)(ZS)(EX) 1,800,000 936,000 864,000
[ 1,260,000
= 162,000
Al 378,000
403 MR HHMSAH=01H 1,800,000 936,000 864,000
= 1,260,000
[ 162,000




A gz

BN mEY W A
el sENY 9 X (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 378,000
02 S712S0 e H=E P E AL 1,800,000 936,000 864,000
02D JIZMBNETE AL
1,800,000,000& 1,800,000
[ 1,260,000
= 162,000
Al 378,000
IZMENF () (IS)N(EX) 1,800,000 936,000 864,000
[ 1,260,000
= 162,000
Al 378,000
403 MR HHMSAHE01H 1,800,000 936,000 864,000
Fas 1,260,000
= 162,000
Al 378,000
02 SO 2SOt = & P EF A I 1,800,000 936,000 864,000
OH J=dEANExd AL
1,800,000,000& 1,800,000
Fas 1,260,000
S 162,000
Al 378,000
IZMENF(Z4E)(IE)N(EX) 1,800,000 936,000 864,000
= 1,260,000
& 162,000
Al 378,000
403 AXIEHMSAH=0lH 1,800,000 936,000 864,000
= 1,260,000
< 162,000
Al 378,000
02 SI12S0ItH et =& 2 €A I 1,800,000 936,000 864,000
O=4E J|ZdENExE A
1,800,000,000& 1,800,000
= 1,260,000
== 162,000
Al 378,000
JIZMENE(ASH) (BS)N(ERX) 2,286,000 267,000 2,019,000
= 1,600,000
== 206,000
Al 480,000
403 TS =01 2,286,000 267,000 2,019,000
= 1,600,000
= 206,000
Al 480,000
02 S7I2S0 e H=E 2 E AL 2,286,000 267,000 2,019,000




A gz

B =&)Y o A
©e: sEg & X (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
DREEIPIENESTEEE IV
2,286,000,000& 2,286,000
= 1,600,000
= 206,000
Al 480,000
I ZMEHE (HMH)(ZE)(EX) 2,617,000 267,000 2,350,000
= 1,832,000
= 235,000
Al 550,000
403 XX SHHMSKHE01A 2,617,000 267,000 2,350,000
iy 1,832,000
T 235,000
Al 550,000
02 SISO CHSt=2 X RIEAIS I 2,617,000 267,000 2,350,000
OBAD I ZMENTTE A
2,617,000,000& 2,617,000
ax 1,832,000
T 235,000
Al 550,000
SESAMXEHSHYLER ) (HES)(BEX) 400,000 1,170,000 AT70,000
iy 280,000
T 36,000
Al 84,000
403 REXISHHIS K201 & 400,000 1,170,000 AT70,000
= 280,000
& 36,000
Al 84,000
02 SO 2 SOHE =X RIEFAIS I 400,000 1,170,000 770,000
ORIAS SEZANEAE A(EO)
400,000,000 400,000
= 280,000
& 36,000
Al 84,000
I ZMENHE(RSHH)(ZS)(BEX) 1,143,000 311,000 832,000
= 800,000
& 103,000
Al 240,000
403 XIS HMSAHE0IA 1,143,000 311,000 832,000
s 800,000
T 103,000
Al 240,000
02 S| 2SO CHEt =X RIEAIS I 1,143,000 311,000 832,000
02201 )| ZMENEEN A (EO)
1,143,000,000& 1,143,000
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EUNE.

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

SAREY

=

800,000
103,000
240,000

Mo

=

871,000
610,000

78,000
183,000

311,000

560,000

403 AXIEHMSAH=201H

SRR

871,000
610,000

78,000
183,000

311,000

560,000

871,000,000

SRR

=

871,000

871,000
610,000

78,000
183,000

311,000

560,000
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SRR

=

621,000
438,000

54,900
128,100

621,000

403 AXIEHMSAH=0ld

SRR

=

621,000
438,000

54,900
128,100

621,000

=N
OSLD FHUXY YBOH HE AY

621,000,000&

SRR

621,000

621,000
438,000

54,900
128,100

621,000
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SRR

=

400,000
280,000
36,000
84,000

400,000

403 AXIEHMSAH=0IE

SRR

400,000
280,000
36,000
84,000

400,000
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SA: el
B =&)Y o A
thel: s&:Mg 2 & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 400,000 0 400,000
Ot JIZdENE |4 AL
400,000,000& 400,000
= 280,000
< 36,000
Al 84,000
I ZMENF (ZEH)(ZS)EX) 400,000 0 400,000
= 280,000
[ 36,000
Al 84,000
403 XM SAH=01H 400,000 0 400,000
s 280,000
== 36,000
Al 84,000
02 S 2S0ItH et =& 2 €A | 400,000 0 400,000
OZ 23 J|ZdENE |4 M
400,000,000 400,000
s 280,000
s 36,000
Al 84,000
AY2IZHN(HAcI2H D) 31,800 31,800 0
[2ZH[(2 /&) 31,800 31,800 0
JlEdul(eelgs) 31,800 31,800 0
202 04dl 27,600 27,600 0
01 =LHOHI 27,600 27,600 0
OSEEZ 0| 100,000 ~23E * 122 27,600
203 =4l 4,200 4,200 0
M FA2ELRFAI 4,200 4,200 0
O2{c| 2 350,000 * 122 4,200




